Efficiency vs dr

1.2

=
LI L

0.8

efficiency vs AR

0.6

0.4

0.2

fa) —trrend 1

i

Ratio

—e— DQM

—=— DQM_V0001_R000000001__Global__mkFit_nobatch
V0001_R000000001__Global__mkFit_maybebatch

[y
TTTT] T T

1078 1072

[ Efficiency vs dr (track,jet) |

-1

TP

) 1
min AR

§0.02
00.018F
- n
%).016_
D.014F
> o
D.012F
o c
=]

£ 0.01
© E
0.008F
0.006F
0.004F
0.002F

[y

107 1072

1
AR(TP, jét)

-1

............

.............

._.
I
i
T
Soeeeeeof
1 E
T
1
T

09362530 35 40

45 50 55




	Contents
	Page 1


